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QUESTION NO: 1

You are considering using commitment management with internal orders. What do you need to do in the configuration?

A. Activate commitment management in both the controlling area and the order type. B. Activate commitment management
in the controlling area, the order type, and in individual internal order master data.

B. Activate commitment management in both the version and the order type.

C. Activate commitment management only in the controlling area.

ANSWER: A

QUESTION NO: 2

You want to create a new standard cost estimate based on the quantity structure of the existing standard cost estimate.
Which object do you use?

A. Costing type
B. Reference variant
C. Transfer control

D. Costing version

ANSWER: C

QUESTION NO: 3

Which of the following objects can be selected in templates for activity-based costing?
Note: There are 2 correct answers to this question.

A. Cost center/activity type

B. Internal order

C. WBS element

D. Business process
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ANSWER: B C

QUESTION NO: 4

Which scenarios can be covered by one single costing run? Note: There are 2 correct answers to this question.
A. Inventory cost estimate of all the materials in one plant

B. Standard cost estimate of all the materials in all plants of a controlling area

C. Current cost estimate of all the materials in all controlling area

D. Product cost collector cost estimate in one plant

ANSWER: AD

QUESTION NO: 5

What are some of the characteristics of SAP Core Data Services (CDS) views? Note:
There are 3 correct answers to this question.

A. CDS views are considered system modifications.

B. CDS views have ready-to-use content.

C. CDS views duplicate data for reporting efficiencies.

D. CDS views have no latency.

E. CDS views support authorization.

ANSWER: BD E

QUESTION NO: 6

How do you maintain number range intervals in Controlling?
A. By account type

B. By cost element category

C. By business transactions
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D. By document type

ANSWER: C

QUESTION NO: 7

You have implemented Product Cost by Sales Oder in conjunction with revenue-based results analysis in your organization.
For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual costs = 1000

What data does the system calculate during results analysis?

A. Revenue = 1200; Cost of sales = 800; Reserve = 200

B. Revenue = 1200; Cost of sales = 1000; Reserve = 200

C. Revenue = 1200; Cost of sales = 1000; WIP = 200

D. Revenue = 1200; Cost of sales = 800; WIP = 200

ANSWER: D

QUESTION NO: 8

What are the prerequisites for automatic generation of the settlement rule to a market segment for a sales order item? Note:
There are 2 correct answers to this question.

A. The sales order item is a cost object.
B. Profitability Analysis (CO-PA) is activated.
C. The material in the sales order item is a service.

D. The sales order item is assigned to a project.

ANSWER: BD

QUESTION NO: 9
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You want to maintain a cost component structure. What can you determine for each cost component? Note: There are 3
correct answers to this question.

A. Relevance of cost component to inventory valuation

B. Assignment of cost component to calculation base for overheads in costing sheet
C. Relevance of cost component to results analysis

D. Relevance of cost component to goods manufactured

E. Assignment of cost component of cost component group

ANSWER: ADE

QUESTION NO: 10

How do you define the relationship between an operating concern and a controlling area?
A. Many-to-many (N:M)

B. Many-to-one (N:1)

C. One-to-many (1:N)

D. One-to-one (1:1)

ANSWER: C
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